Current grade is a 98.02 A
I think my current grade is a correct representation of what I’ve turned in so far 
To receive an A I would need to be in the range of 89.5-100% on the remaining assignments. I would need to maintain a grade of 65.4% to stay above an A with the remaining assignments. Minimum points needed = 0.895 * 3000= 2.685. Points needed from remaining assignments 2.685-2031=654 which is 64.1%.
To receive an B I would need to be in the range of 79.5-89.4% on the remaining assignments. I would need to maintain 35.4% on the remaining assignments to make an B. Minimum points needed= 0.795*3,000= 2,385. Points needed from remaining assignments 2,385-2,031= 354 which is 35.4%
To receive an C I would need to be in the range of 69.5-79.4% on the remaining assignments. I would need to maintain a 5.4% to make an C. Minimum points needed= 0.695*3,000=1,785. Points needed from remaining assignments 2,085-2,031= 54 which is 5.4%
To receive an D I would need to be in the range of 59.5-69.4% on the remaining assignments. With my current grade I’m already above an D. Minimum point needed=0.595*3,000=1785. Points needed from remaining assignments=1,785-2,031=         -246 so my grade is above a D
To receive an F I would need to be in the range of 0-59.4% on the remaining assignments. Minimum points needed=0*3,000= 0 so I’m already above a F.

